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FF1246 8248 0K)
E 4z K £ 7ok 1 > —#%JL | HDCP ESVI RAVb
B B BH EFT 40 41 81 12.6 68.4 300
BB RRZE  ZRER 42 43 85 15.3 69.7 200
34z K B— 37 41 78 8.1 69.9 150
AT A0 & 41 38 79 9.0 70.0 70
54z Wk H—ER 39 34 73 2.7 70.3 60
64z e FH 44 53 97 26.1 70.9
741 AE m 43 38 81 9.9 71.1 50
8L AN XE& 39 44 83 11.7 71.3
9fz BEH =B 43 41 84 12.6 71.4
104z =% BX 42 39 81 9.0 72.0 50
114 BH EX 42 48 90 18.0 72.0
1241 WEH —X 42 40 82 9.9 72.1
134 & FB 39 38 77 3.6 73.4
1441 A R 40 39 79 5.4 73.6
1541 a4 KF 38 41 79 5.4 73.6
164 BKR F 43 42 85 10.8 74.2
1741 oe ER 45 49 94 19.8 74.2
181z we F 44 42 86 11.7 74.3
194 #in IEX 42 45 87 12.6 74.4
201z TR #WE 39 43 82 7.2 74.8 30
214 1A BEA 45 43 88 12.6 75.4
22431 = & 45 47 92 16.2 75.8
23131 mAR FEA 46 39 85 9.0 76.0
24431 *E 1B 45 42 87 10.8 76.2
25131 TF &iF 49 47 96 19.8 76.2
2611 A0 EX 39 46 85 8.1 76.9
2741 #HL Rif 46 49 95 18.0 77.0
28131 F# IETT 45 42 87 9.9 77.1
291 ik BRI 43 44 87 9.9 77.1
301 mikx %K 44 44 88 10.8 77.2 30
3141 EZ =T 43 42 85 7.2 77.8
32{i X5 IE#® 52 53 105 27.0 78.0
33 JNE  BA 46 42 88 9.9 78.1
34431 /N 45 43 88 9.9 78.1
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351 RER B 47 51 98 19.8 78.2

361 BmA =R 49 51 100 21.6 78.4

374 AR £ 43 44 87 8.1 78.9

381 TF FH 44 44 88 9.0 79.0

391 Bl BE 45 40 85 4.5 80.5

401z A BXER 45 43 88 6.3 81.7 30
4141 FRIR Al 51 52 103 20.7 82.3

42431 RIK  EARE 47 45 92 9.0 83.0

4343 sk S b 49 48 97 10.8 86.2

44451 KIE fE 50 46 96 9.0 87.0

BBE %@ 1R 51 48 99 10.8 88.2 60
46131 XS #HA 53 54 107 18.0 89.0
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